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58.95 8 . R fEREER R
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2810

@ 15 - D19 x 9230

100
T

@ 48 - D19 x 3010

3010

3 22 - D13 % 1110

2980

2810

@ 12 - D13 x 3710

299

2300

1110

*'b/j[ g |

@ 14 - D19 x 2300

3010

2810

@ 8 - D19 x 9810

R=200

3560

285,

1380

185N KIRASA K5 — FEREAFAMITE s-1:50

@ 15 - D19 x 3380

3380

2810

6 10 - D19 x 3960

3960

@ 14 - D13 x 5550

Bl | &l

\ 4860 \

6 16 - D13 x 1380

@ 16 - D13 x 1510

I

@ 22 - D13 x 3010

404

1104

g
[=]
<

0 16 - D13 x 3410

8 - D13 x 2510
(R

83~134
(1013)

633~1133

(883) />@

100|100

30 - D13 x 2240 @ 16 - D13 x 2880
(TR
/3706

]

5

545~1272
(909)

454~1181
(818)
1192
1192

100

—_
(=3
(=]
T
—_
[=4
[=3

100

@ 8 - D13 x 4860

4860

3004

3 24 - D13 x 1890

1078

g _ 3

3 16 - D13 x 1110

1110

100

3 66 - D13 x 370

g

( :)12—D13x 400

192

e

100

HEER
A 23 R AH | HUER | 1ALUER 25 3 BE
(mm) (ke/m) (kg) (kg)
[¢]] D19 9, 230 15 2.25 20.77 311.6 | ||
G2 D19 9, 810 8 2.25 22.07 176.6 | |_J
63 D19 3,390 15 2.25 7.63 114.5 | —
G4 D19 3, 960 10 2.25 8.91 89.1 | —
G5 D13 5, 550 14 0.995 5.52 71.3 | —
66 D13 2,040 | 12 0.995 2.03 24.4| )
G7 D13 3,710 12 0.995 3.69 44.3 |~
G8 D13 1,380 16 0. 995 1.37 21.9 | —
G9 D13 2,510 9 0. 995 2.50 22.5 ﬂ EaoF. 3
G10 D13 2, 240 30 0.995 2.23 66.9 | [) EHRE
a11 D13 2,880 | 16 0. 995 2.87 45.9 | ||
B 995.0
wi D19 3,010 | 48 2.25 6.71 325.0 | |
w2 D19 2, 300 14 2.25 5.18 72.5 | |
W3 D13 1,510 16 0.995 1.50 24.0 |
w4 D13 3,410 16 0. 995 3.39 54.2 | —
W5 D13 4, 860 8 0.995 4.84 38.7 | —
W6 D13 1,110 | 22 0. 995 1.10 24.2 |
w7 D13 3,010 22 0. 995 2.99 65.8 | —
w8 D13 1,890 24 0.995 1.88 45.1| —
(] D13 1,110 | 16 0. 995 1.10 1.6 | —
w10 D13 370 66 0. 995 0.37 24.4 | M
wi1 D13 400 12 0.995 0.40 4.8 m
A 1§ 696.3
D19 1089.3 kg
D13 602.0 kg
SFmrEk 1691.3 ke
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HER 1BEAKIR T4 F&— MM IE
fREAR
BR | S0 [REE s#m
a4
FEME| HRARR =ARAK-MRRARERH




@ 10 - D13 x 2060

1410

650

e 1 - DI3x 660

660

9 8 - D13 x 810

204

600

@ 3 - D13 x 2520

2520

@ 7 - D13 x 1570
(Fi98)

438~1395
17

650

@ 1 - D13 x 460

[=3
=

a 4 - D13 x 1410

1410

@ 8 - D13 x 1640

650

]

990

6 2 - D13 x 250
g

@ 5 - D13 x 890

630

g

a 7 - D13 x 3870

3870

188 /K TR T&AFMIE s=1:30

2—D13X1060 ®Z—D13x 860

1060
860

@ 5 - D13 x 1090 @ 15 - D13 x 1160 a 5 - D13 x 1240

630 630 180

]
o 5]

530
530

1 - D13 x 4170

BHEER
ki H & R X | BAEE | 1FLYES wE HWE
(om) (kg/m) (ke) (ke)

K1 D13 2, 060 10 0. 995 2.05 20.5 | |

K2 D13 1,570 7 0. 995 1.56 10.9 | | THE
K3 D13 1, 640 8 0. 995 1.63 13.0 | 7

K4 D13 1,060 2 0. 995 1.05 2.1 |

K5 D13 860 2 0.995 0.86 1.7 |

K6 D13 660 1 0. 995 0.66 0.7 |

K7 D13 460 1 0. 995 0.46 0.5 |

K8 D13 250 2 0.995 0.25 0.5 |

K9 D13 810 8 0. 995 0.81 6.5 | 7

K10 D13 1,410 4 0. 995 1.40 5.6 | |

K11 D13 890 5 0.995 0.89 4.5 | —

K12 D13 1,090 5 0. 995 1.08 5.4 |—

K13 D13 1,160 15 0. 995 1.15 17.3 | —

K14 D13 1,240 5 0. 995 1.23 6.2 | N

K15 D13 2,520 3 0. 995 2.51 1.5 —

K16 D13 3,870 7 0.995 3.85 27.0 | —

K17 D13 2,970 3 0. 995 2.96 89| — EHE
K18 D13 3,220 4 0. 995 3.20 128 | — FTHE
K19 D13 650 | 25 0.995 0. 65 16.3 | —

K20 D13 4,170 1 0. 995 4.15 4.2 | ~

K21 D13 2,370 1 0. 995 2.36 2.4 | —

LA 14 174.5
BRI 1@ YER DI3 = 174.5 kg
FEERTREHER = 285/
SHRER D13:174.5x2 = 349.0 kg

‘ 2412
Gl
@ 3 - D13 x 2970 a 4 - D13 x 3220 3 25 - D13 x 650 N
(RHE) (FE)
2670~3270 2652~3771 650
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-
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185/ KIR/KHET#EHMIE (2/2) s=1:50

e 10 - D13 x 3830 6 6 - D13 x 3870 e 16 - D13 x 2380 a 10 - D13 x 1180 6 - D13 x 1220
(€379

(EHE)
1620 1620 2380
> > 2
Sl =
g e , BHEEE ,
- gc (—XHETL) (—REL)
- | & B& A% | BUEE | FNYER 2R = | & R& A | BEE | 1ALYER =R =
(mm) (ke/m) (ke) (ke) (mm) (kg/m) (kg) (ke)
Fi D18 7,800 | 30 2.25 17.55 526.5 | | B D13 3,830 | 10 0. 995 3.81 381 [
F2 | D19 4,190 | 8 2.25 9.43 75.4 | — B2 | D13 3,870 6 0.995 3.85 81| T8
F3 | D19 2,640 | 8 2,25 5,94 4.5 | | B3 | D13 2,380 | 16 0.995 2.37 379 —
F4 | D19 4,19 | 75 2.25 9.43 701.3 | — B4 | D13 1,180 | 10 0. 995 1.17 1.7] |
6 9 6 F5 | D19 4,860 | 15 2.25 10.94 164.1] | B5 | D13 1.220] 6 0.995 1.21 7.3 | =4E
10 - D13 x 2540 12 - D13 x 2480 8 /10 - D13 x 2060 12 - D13 x 2110 12 - D13 x(ézéoﬁ) e 5.600] 16 225 12.60 201.6] ] % o1 2540 10 0,99 253 B3l
F7 | D19 2,440 3 2.25 5.49 16.5| | B7 | D13 2,480 | 12 0. 995 2.47 2.6
2540 2480 F8 | D19 3.180| 2 2.25 .16 14.3] | B | D13 2,060 | 10 0.995 2.05 205
(=] o (=]
= =3 =3 Fo | D19 1,220 5 2.25 2.75 13.8] | B9 | D13 2,110 12 0. 995 2.10 2.2 |
1667 1712 1760~1950 Flo | D13 7,000 18 0. 995 6.97 125.5 | — BIO | D13 2,260 12 0.995 2.25 27.0 | — T8
(1865) FI1 | D13 9.460 | 18 0.995 9.41 160.4 | — BI1 | D13 80| 8 0.995 0.86 6.9
Fiz | D13 1,000 | 44 0. 995 1.00 4.0 BlZ | D13 80| 6 0.995 0.87 52| THE
F13 | D13 870 | 140 0.995 0.87 121.8 | 0 BI3 | D13 79 | 8 0.995 0.79 6.3
R 2227.7 B14 | D13 s10| 4 0.995 0.81 32|
9 8 - D13 x 860 3 6 - DI3x 870 9 8 - D13 x 790 9 4 - D13 x 810 9 16 - D13 x 360 BI5 | D13 360 | 16 0.995 0.36 58| m
CFiaR) Wi | Do 3,690 117 2.25 8.30 9711 | ) 273.1
276 276 276 286 156 w2 D19 2, 640 17 2.25 5.94 101.0 | |
ﬂ H % ﬂ ﬂ W | 019 1.20] 9 2.25 2.86 25.7| | —RiET
- = 5‘,‘
P — Q%?ng% u"ﬂ:miu‘ﬁ Si:m?“’ %iﬁ:% W4 | D19 1.220] 9 2.25 2.75 4.8 | D19 2945.8 ke
- - il S - = - W | D13 5,380 | 11 0. 995 5.35 58.9 | | D13 1934.3 ke
100 ||| 100 ~ ‘g‘loo 100 100 | || [100 100 100 w6 D13 6,120 10 0.995 6.09 60.9 | | BHRES 4880.1 ke
W | D13 2,650 | 2 0.995 2.64 53|
we | D13 3,30 | 3 0. 995 3.37 101 L
W | D13 1.5 5 0. 995 1.52 7.6 |
wio | p13 7,79 6 0. 995 1.75 46.5 | [
Wit | p13 7,000 13 0. 995 6.97 9.6 |
w2 | p13 9.460 | 12 0.995 9.41 2.9 —
@ 9 - D13 x 2040 @ 9 - D13 x 2250 @ 9 - DI3x 670 w3 | p13 3,660 | 6 0.995 3.64 218 | — BEBEE
wi4 | D13 4190 25 0.995 417 104.3 | — (ZRRETL)
92 92 w5 | D13 1530 5 0.995 1.52 76| — = | & R& A% | BuEE | 1FLYER B mE
(=]
S o W6 | D13 1,460 5 0. 995 1.45 7.3 — (mm (ke/m) (ke) (ke)
e jifv— w7 | D19 1,560 | 16 2.25 3.51 56.2 | | N1 D13 2,00 9 0.995 2.03 183 [
3 —
- > R wis | D13 2,920 8 0. 995 2,91 23.3 N2 | D13 2,250 | 9 0.995 2.24 202 \
g 16 L=170mm wie | p13 780 | 16 0. 995 0.78 12.5 | — N2 | D13 60| 9 0.995 0.67 6.0 —
- W | x& NM | D13 1,000 | 16 0.995 1.00 16.0
ol MR N5 | D13 1,740 | 16 0.995 1.73 2.7 —
—= w2 | p13 360 | 74 0. 995 0.36 2.6 | N6 | D13 1,250 | 14 0.995 1.24 17.4 | — =HE
O w3 | p13 400 | 229 0.995 0.40 91.6 | — N7 | D19 2,170 | 15 2.25 4.88 3.2 —
16 L=170m a @ w4 | D13 3,130 29 0. 995 3.1 90.2| [ Ne | D13 1,030 10 0.995 1.92 19.2] —
16 - D13 x 1000 16 - D13 x 1740 14-D013 x(:}fjgjoi) w5 | D13 3,760 | 29 0.995 3.74 108.5 | \ N 198.0
w6 | D13 7.160 | 18 0.995 7.12 128.2 | —
340~1746 —_
995 1735 1043) w27 D13 1,130 8 0. 995 1.12 9.0 | —RET
° - ws | p13 1,340 8 0. 995 1.33 10.6 | \_ D19 73.2 ke
(=]
J j v—‘ v—’ W29 | D13 9,460 6 0.995 9.41 56.5 | — D13 124.8 ke
LIk 2 )] HIFL - SR~ 4y W0 | D13 2,620 2 0. 995 2,61 52| BHBER 1980 ke
$16 L=170mm $16 L=170mm
Wit | D13 1.300 | 81 0. 995 1.29 1045 1 THE
h E 2379.3
@ 15 - D19 x 2170 a 10 - D13 x 1930
SHOEE = ARAK= HRRKARR
o 1540 I%4 REEHRABRETE (18555 KT H)
—— 170 1200 170 HiEmg | 18542 KITRALTHHMNIE(2/2)
g8 |z |
| §=1:50 = ‘ 51
g E@J \ B - R ®R ikl B
$16 L=170mm 244
BlA - R
$20 L=200mm BEME| HRERR SHRAKMREARERER




® 6 - D13 x 2150 @ 4 - D13 x 1770 @ 6 - D13 x 1880 16—D13x1490
(FH5&) (

1940~2360
(2150)

KM 1F K EE T EEFH A0 T s=1:50

SEHEMIRE (B%&)

THE)
1208~1763
(1486)
@4—013x 450 2—D13x 850 ®z—n1sx131o
[€:3.55 )
208~597 850 1310
F448)
HHEER
=) k2 3 & 8 BENE | 1xHURE HE =
(mm) (kg/m) (kg) (kg)
T D13 2,150 6 0. 995 2.14 12.8 | | THE
T2 D13 1,770 4 0. 995 1.76 7.0 | |
3 D13 1,880 6 0. 995 1.87 1.2 | |
T4 D13 1,490 16 0. 995 1.48 23.7 | — THE
1 D13 450 4 0. 995 0.45 1.8 | — FTHE
6 D13 850 2 0. 995 0.85 1.7 | —
17 D13 1,310 2 0. 995 1.30 2.6 | —
T8 D13 390 14 0. 995 0.39 5.5 | m
nOE 66.3
IHEET 1 EHAFLUER DI3 = 66.3 ke
ILBETREMERT = 28
i ER D13:66.3x2 = 132.6 kg

9 14 - D13 x 390

186

-

STN64E B =77 7 Aok — 31 MK F R

TEE | amsokidbTH (683K TH)
EE4 FRoKRELE K EE T 85550 T B
feRiEAR

#R | 0 |EEER] s#m
EE

RETE

BRREE =AERAK KRR E R




2450

® 15 - D16 x 7630

2450

R=170

& A
¢ 2190 32

@ 11 - D13 x 2390

2390

@ 42 - D13 x 2620

@ 16 - D13 x 2530

2620

2530

@ 16 - D16 x 1680

1680

@ 6 - D13 x 780

4 - D13 x 760
(FHR)

@ 8 - D16 x 3220

2450

R=170

e
% 500

6 15 - D13 x 2530

2530

@ 8 - D16 x 3960

2450

R=170

678

‘3
% |s00

| 0

e 11 - D13 x 3690

3690

6 3 - D16 x 1450

R=170

@ 3 - D16 x 2140
(FHR)

@ 44 - D13 x 940

100

678~8175
am

151~754
(753)

@ 16 - D13 x 1500

1500

@ 6 - D13 x 1340

1238~1435
(1337)

4 - D13 x 1110
(FHE)

1101~1104

18 - D13 x 6490

1530

i

2250

$ 20 - D13 x 3690

3690

‘ (1103) ‘ ‘

@ 52 - D13 x 330

130

-

3 110- D13 x 360

158

.

=
“h

611~614

(613)
&

‘ R=140
[

TENIRAKS KT8 FH M T

S=1:50

6 - D16 x 1340
€2

BE&)

1238~1435
(1337)

@ 30 - D13 x 860

219

]:Q

100 || 100

@ 2 - D13 x 5080
(FHE)

— &

—

188

a 2 - D13 x 5780

(EHR)

611~614
(613)

961~964
(963)
61~96
(963)

R=140
3410 \

%
&

3410

%

BHEER
R & B B BuEE | 1AuyERE = BE
(mm) (kg/m) (ke) (ke)
F1 D16 7.630| 15 1.56 11.90 178.5 | |
F2 D16 3,220 8 1.56 5.02 40.2 | |
F3 D16 3,060 8 1.56 6.18 49.4 | |
F4 D16 1,450 3 1.56 2.26 6.8 L
F5 D16 2,140| 3 1.56 3.34 10.0| | FH¥E
Fé D16 1,340 6 1.56 2.09 125 | | E8¥E
F1 D13 2,390 | 11 0. 995 2.38 26.2 | —
F8 D13 2,530 | 15 0. 995 2.52 3.8 | —
Fo D13 3,690 | 11 0. 995 3.67 40.4 | —
F10 D13 940 | 44 0. 995 0.94 4.4 N
F11 D13 860 | 30 0. 995 0.86 25.8| o
N E 469.0
wi D13 2,620 | 42 0. 995 2.61 109.6 | |
w2 D13 780 6 0. 995 0.78 4.7 |
w3 D13 1,340 6 0. 995 1.33 8.0/ |
W4 D13 6,490 | 16 0. 995 6.46 103.4 | [
W5 D13 5080 | 2 0. 995 5.05 10.1 | ] THE
W6 D13 5780 | 2 0. 995 5.75 1.5 F4E
w1 D13 2,530 | 16 0. 995 2.52 40.3| —
w8 D13 760 4 0. 995 0.76 30| — THE
(] D13 1,110 4 0. 995 1.10 44| — FHE
W10 D13 3,690 | 20 0. 995 3.67 73.4| —
Wit D16 1,680 16 1.56 2.62 41.9| —
w12 D13 1,500 16 0. 995 1.49 23.8| —
w13 D13 330 | 52 0. 995 0.33 17.2
wi4 D13 360 | 110 0. 995 0.36 30.6 |
N E 490.9
D16 339.3 kg
D13 620.6 kg
SHkER 959.9 kg
THE | S ReRARURIRIRAAIE
EIE4A TENAKS K I G
feRiEAR
#R | 100 |EEEE sam
EE
REME MREEE =HRAK-HREAHERT
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X[EA XEE
56—D13x 690 12—D13x 3010 28—D13x 460 ®42‘D‘3" 760 @ 6 - D13 x 4880 ®2“°‘3" 280
80
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> 3010 ﬂ §p e 4880
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18BN /KIELEaY ) — FE&BHMIE(2/2) s=1:50

X/ G
SHEER
<i::> 52 - D13 x 860 (i::) 12 - D13 x 2040 <:::> 26 - D13 x 360
| & ) &% | HOER | ANYHERE T ) e | & B A% | HUER | 1A%YER T P
o 8 2931 160 () (ke/m) *e) *e) () ke/m) ke) *e)
8 N \ - - EMA BMH
§EB i 84:ﬁ:3# Al D13 690 | 56 0.995 0.69 38.6 | | H1 D 13 870 | 60 0.995 0.87 52.2 | |
= 2 | D13 3,000 12 0.995 2.99 3.9 H2 | D13 3,400 | 12 0.995 3.38 06| —
- B | D13 460 | 28 0.995 0.46 12.9 | — H3 | D13 360 | 360 0.995 0.36 120.6 | —
N 87.4 N 222.4
X H RmEs =R 1
Bl | D13 690 | 30 0.995 0.69 20.7] | n | o3 g0 | 52 0.995 0.87 45.2
B2 | D13 00| 4 0.995 0.70 28| | TR 12 | pi3 920 | 16 0.995 0.92 147 | WA
() () C) B3 | DI3 3,880 | 6 0.995 3.86 22| — 13 | D13 860 | 16 0.995 0.86 13.8 | —
60 - D13 x 870 12 - D13 x 3400 30 - D13 x 360 B4 | DI3 280 | 17 0.995 0.28 48| — 14 | p13 2,620 16 0.995 2.61 4.8 —
3400 160 R 51.5 hE 115.5
e § J ‘ ‘ ERc XMy
Sl o %:m:% ¢t | D13 860 | 22 0.995 0.86 18.9] | wam EREXE 590 | 98 0.995 0.59 57.8| | THE
= 2 | ni3 2,380 | 6 0.995 2.37 142 — 2 | pi3 1,188 | 4 0.995 1.18 41| —
3 | D13 280 | 11 0.995 0.28 31— B | D13 280 | 49 0.995 0.28 13.7 | —
o 36.2 N 76.2
X I EmD SATTFHM GENAA BET
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